1—X - #2RH

55 5 FikRR

55 4 iR

FURLMISR  =pe=

=

4

of 979 E LI

FERINRRY
FR MASE

29—k
&
%1 kAR B
Bt
|.|
\\'\
% 3 BT _— rr‘” ~ Emnmad
A
l
|
| (=R EEm)
X T WD 5 FHE/NERETH1 8. 5 km
( 1K # oy W = R 1 (A R ABEE 2. 8km
3 Holx R o —  FINER 9. 8km |
G H3X FINERR — R CEIERE ) 3. 2km
AKX I K — % i (P 3. 4km
BH5X & Ho— PR IT A (XD 4. 4km
%6 X % T s — PHEINER (T T R) 1. 9km




6 ® | 5 X | 4 X T 3 B l 2 X ] 1 X
ﬁf 1 Skm_ 4 4.4km %%1 3.4km % 3.2m —— ﬁ «— 2.8km % 2.8km —-@ 18.5km
F 38 23 23 22 . Is
4 0 @ " ﬂg 4 @ 2
g Pl A A ® & ik
L]

leem

= S
T : \\\\\\‘:?‘\ o e — B AT \-'\\.‘\%\\\“\_\\%'\
Skm

P )

= S e
s RS NS RS

F
“

18.5km  18km 1 7km 1 Glem 15km 14km 13km 12km 11km 10km Qkm Bkm Thkem Bkm Ahem Skm 2km Tkm Okm



